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A structure subjected to simple harmonic loading responds with simple harmonic motion. 

Measrements show that the amplitude of structure’s displacement is 1.5cm. An 

accelerometer mounted on the structure shows a measured amplitude of 0.10g. Recalling 

that 1g=9.81m/sec2, analytically determine: 

a) The frequency, circular frequency and period of the harmonic loading. 

b) The amplitude of the velocity of the structrue in cm/sec. 

c) Plot the point that describes the motion of the structure on the attached tripartite plot. 

Use the tripartite plot confirm the accuracy of your answers to Parts (a) and (b).  



 


